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Model Test One

PART 1 WRITING [45min. ]
SECTION A COMPOSITION [35min. ]

It is a virtue to be ready to help others. However, sometimes our
ability is limited and so we cannot always offer help whenever we are asked

to.

Write on your ANSWER SHEET ONE a composition of about 150

words on the following topic:
Don’t Hesitate to Say “No”

You are to write in three paragraphs .

In the first paragraph , state clearly what your view is.

In the second paragraph , support your view with details .

In the last paragraph , bring what you have written to a natural con-
clusion with a summary or suggestion .

Marks will be awarded for content, organization , gremmar.and ap-
propriacy .. Failure to follow the instructions may result in a loss of marks .

SECTION B NOTE-WRITING [10min. ]

Write on your ANSWER SHEET ONE a note of about 50-60 words
based on the following situation :

You are ill and cannot attend the class. Write a note to the professor
to express your apologies.

Marks will be awarded for content , organization, grammar and ap-
propriacy .
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PART I DICTATION [15min. ]

Listen to the following passage. Altogether the passage will be read to
you four times. During the first reading , which will be read at normal
speed , listen and try to understand the meaning. For the second and third
readings, the passage will be read sentence by sentence, or phrase by
phrase , with intervals of about 15 seconds. The last reading will be read at
normal speed again and during this time you should check your work. You
will then be given 2 minutes to check your work once more .

Please write the whole passage on ANSWER SHEET TWO .

Now listen to the passage .

PART [l LISTENING COMPREHENSION | 20min. ]

In Section A, B and C you will hear everything once only. Listen
carefully and then answer the questions that follow. Mark the best answer to
each question on your answer sheet .

SECTION A STATEMENT

In this section you will hear eight statements. At the end of each state-
ment you will be given 10 seconds to answer each of the following eight ques-
tions .

1. How much does the bike cost?

A. $80.00 B. $65.00 C. $60.00 D. $50.00
2. What does the statement mean?

A. Kathy can see better than Ann.

B. Kathy is prettier than Ann.

C. Kathy has a better room than Ann.

D. Kathy is a better roommate than Ann.
3. The statement means

A. it was a spelled paper

B. the word was spelled perfectly

C. the paper had one spelling mistake

« 2 .
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D. the teacher did not accept the paper
4. What does the statement imply?

A. You will need a smaller size in this style.

B. You will need a size six in this style.

C. This style runs a little smaller than usual.

D. Your usual size is size seven.
5. What did we want?

A. We wanted a sandwich.

B. We wanted a tuna dinner.

C. We wanted fish.

D. We wanted a salad.
6. What can be inferred from the statement?

A. Tomorrow morning I need eight copies.

B. I made eighty copies for my meeting.

C. I have eight meetings tomorrow.

D. At eight o’ clock tomorrow moming I will need eighteen copies.
7. What does the speaker mean?

A. The students saw more snow before.

B. The students had never seen snow before.

C. This was the first time that the students had seen such a lot of

snow.

D. Before the students saw the snow there had been much more.
8. What does the speaker mean?

A. Robert finished his homework earlier than Mary did.

B. Mary may finish studying soon.

C. Both Mary and Robert did homework fast.

D. Mary helped Robert do his homework quickly.

SECTION B  CONVERSATION

In this section you will hear nine short conwersations. At the end of
each conversation you will be given 10 seconds to answer each of the follow-
ing nine guestions.

9. What does the man suggest they should do?



A. Find a larger room.
C. Buy two bookshelves.
B. Sell the old table.
D. Rearrange some furniture.
10. Why can’t John go swimming now?
A. He must meet his teacher.
B. He must attend a class.
C. He must go out with his girlfriend.
D. He must stay at school to finish his homework .
11. What does the man mean?
A. He wants to pay.
B. He doesn’t want to eat out.
C. He wants to eat somewhere else.
D. He doesn’t like Japanese food.
12. What do we know about the man from the conversation?
A. He didn’t work as hard as he was supposed to.
B. He didn’t pass the physics exam.
C. He did better in an earlier exam.
D. He found something wrong with the exam.
13. What’s the man’s occupation?
A. A teacher. B. A psychologist.
C. A librarian. D. A publisher.
14. What does the man want the woman to do?
A. To visit more places in city.
B. To take a lot of pictures of the beautiful city.
C. To take some pictures of his friends.
D. To spare some time to meet his friends.
15. Why does the woman want to stay outside?
A. Because she feels very hot in the room.
B. Because she wants to avoid meeting people.
C. Because she wants to smoke a cigarette outside.
D. Because she doesn’t like the smell of smoke inside.
16. Who is going to paint their house?
. 4 .



A. Painters hired by the man and woman.
B. Painters hired by Mr. Jones.
C. Mr. Jones.
D. The man and the woman.
17. What did the woman want?
A. Her suitcase.
B. Some rocks.
C. The leaves.
D. A down pillow.

SECTION C NEWS BROADCAST

Questions 18 , 19 and 20 are based on the following news . At the end
of the statement you will be given 10 seconds to answer each of the following
questions .
Now listen to the news.
18. A fierce fighting happened between .

A. the security forces and the Afghans

B. the tribesmen and the Afghans

C. terrorists and the security forces

D. the security forces and the Alfreedi tribesmen
19. What were used in the battle?

A. Artillery and small arms.

B. Artillery, mortars and missiles.

C. Artillery, mortars and small ams.

D. Mortars and rockets.
20. What caused the violence?

A. The authorities drove the tribesmen away.

B. The securitymen confiscated the whole lot.

C. The authorities made an attempt to remove the tribesmen from the

area they had settled.
D. The securitymen detained the Alfreedi tribesmen.

Questions 21and 22 are based on the following news. At the end of
.5 .



the statement you will be given 10 seconds to answer each of the following
questions .
Now listen to the news .
21. Mr. Winston Thompson wamned other countries not
A. to help the members of recent military coup
B. to interfere with his country’s affairs after the recent military coup
C. to deceive the people of Fiji
D. to help resolve the situation in Fiji
22. Mr. Thompson told the General Assembly that .
A. outside interference would help
B. the people of Fiji needed the assistance of the U.N
C. the people of Fiji needed help from Great Britain
D. the people of Fiji must be allowed to resolve the situation in their
own way

Question 23 is based on the following news. At the end of the state-
ment you will be given 10 seconds to answer the question .
Now listen to the news .
23. Mr. Hasheml Rafsanjani of the Iranian Parliament warned .
A. Tran has secret weapons in the U.S.
B. Iran has got the news from secret sources that the United States
will take part in the War
C. Iran has secret resources at its disposal in the event of war in the
Gulf with the United States
D. Iran’s defence forces are secking confrontation with the U.S. and
the mines and boats will be used at the appropriate time

Questions 24 and 25 are based on the following news. At the end of
the statement you will be given 10 seconds to answer each of the following
questions .

Now listen to the news. )

24. What happened to the Amoco Cadiz in 19787
A. It disappeared while enroute to Britain.
B. It disappeared while enroute to America.
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C. It broke up not far away from the coast of Brittany.
D. It broke up off the coast of Britain.
25. What was the original amount of the award recommended by an expert
from the French court?
A. Approximately 1,700,000 dollars.
B. Approximately 1,500,000 dollars.
C. Some 2,000,000 dollars.
D. Some 2,100,000 dollars.

PART N CLOZE [ 15min. ]

Decide which of the choices given below would best complete the pas-
sage if inserted in the corresponding blanks. Mark the best choice for each
blank on your answer sheet .

Commuting to work in Chicago is no pleasure, for the roads there are
even more crowded than in San Francisco. But here is (26) _ the
city of Chicago is handling the problem.

“We don’ t have rush hours any more,” said Charles M. McLean,
who (27) the nation’ s busiest road. “we have rush periods, and
they keep getting longer and longer.”

In Chicago, a (28) system has been developed that controls
(29) the city’ s seven expressways. Now, one man—a controller
can (30) the movement of Chicago’s traffic (31) looking
at a set of lights.

The system uses electronic sensors that are built into each express-
way , half a mile (32)
(33) information from each sensor and translates it into green,
yellow or red lights on a map in the control room.

“See that red light near Austin Avenue?” the controller asked a visi-

. Several times a second, the computer

tor, “That’s a repair truck (34) the road, and the traffic has to
go (35) _it.”
At the Roosevelt Road entrance (36) the expressway, the

light kept (37) from green to red and back to green again. “A lot
of trucks get on the expressway there.” The controller explained. “They

. 7
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can't (38) _ as fast as cars.”

The sensors show (39) _ where an accident or a stopped car is
blocking traffic, and a truck is sent by radio to clear the road. The system
has lowered the (40) ____ of accidents by 18 percent.

26. A. how B. why C. where D. when

27. A. designs  B. paves C. runs D. cares

28. A. computing B. computerized C. computation = D. computative
29. A. for B. \ C. over D. to

30. A. race B. realize C. industry D. follow

31. A. by B. for C.in D. with

32. A. far away B. far off C. apart D. over

33. A. accepts  B. attains C. receives D. reflects
34. A. fixing B. constructing C. blocking D. assembling
35. A. through  B. off C. beyond D. around

36. A. on B. to C. into D. upon

37. A. beaming B. flashing C. lighting D. changing
38. A. goup B. run up C. speed up D. draw up
39. A. inno time B. at no time  C. all the time D. at one time
40. A. rate B. ratio C. percentage D. number

PART V GRAMMAR & VOCABULARY  [15min.]

There are twenty-five sentences in this section. Beneath each sentence
there are four words or phrases marked A, B, C and D. Choose one word
or phrase that best completes the sentence(s).

41. Charles regretted the TV set last month. The price has now
been raised.
A. not buying B. not buy
C. not to buy D. buying not
42. Improbable it seems, it’s true.
A. thought B. as
C. although D. like

43. Every man in this country has the right to live where he wants to,
the color of his skin.



45.

47.

48.

49.

50.

51.

52.

A. with the ¢xéeption of B. in the light of
C. by quti€ of D. regardless of

. She ought to stop working; she has a headache because she
too long.
A. has been reading B. had read
C. is reading D. read
I don’ t mind the decision as long as it is not too late.
A. you to delay making B. your delaying making
C. your delaying to make D. you delay to make

. We’ll visit Europe next year we have enough money.
A. lest B. until
C. unless D. provided
Frankly speaking, I’ d rather you anything about it for the
time being.
A. didn’t do B. haven’t done
C. don’t do D. have done
The trumpet player was certainly loud. But I wasn’t bothered by his
loudness by his lack of talent.
A. than B. more than
C. as D. so much as
The conference a full week by the time it ends.
A. must have lasted B. will have lasted
C. would last D. has lasted

There’s a man at the reception desk who seems very angry and I think
he means trouble.

A. making B. to make

C. to have made D. having made

The government fights finnly against the of land that is most
privately owned.

A. enclosure B. disclosure  C. exposure D. encounter
It requires real to drive such long distances.

A. continuation B. consistency

C. personality D. endurance



53.

4.

55.

56.

57.

58.

59.

61.

62.

63.

He seems to be enough to climb to the mountain top in an
hour.
A. radiant B. conscientious
C. conspicuous D. energetic
She announced her to White at the party.
A. appointment B. engaging
C. arrangement D. engagement
He needs a bigger house and this will getting more money.
A. hint B. imply
C. entail D. ensure
The most students were also the most successful .
A. enthusiastic B. frantic
C. thrilled D. exhilarated
In his unhappiness he had come even to question his
A. diversity B. entity
C. prosperity D. minority
We had an of influenza last winter.
A. infectious B. contagious
C. immune D. epidemic
The old queen’s death seemed to end an
A. epoch B. epic
C. episode D. equation
. Forests provide natural beauty, -prevent , and furnish food and
cover for wild life.
A. erosion B. spoil
C. decay D. corruption
The two things are the same in outward but different
A. in excess B. in existence C. in essence D. in sense
The cycle of life and death is a subject of interest to scientists
and philosophers alike.
A. eternal B. extemnal
C. internal D. interior
We must ____ our educational work among our own troops.
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A. heighten B. intense
C. relieve D. intensify
64. I could see that my wife was having that coat, whether I ap-
proved of it or not.
A. adequate for B. intent on
C. short of D. deficient in
65. Where the two carpéts , you have one on top of the other.
A. parallel B. overlap
C. coincide D. coordinate
PART VI READING COMPREHENSION (30min. ]
SECTION A (25min. |

In this section there are four passages followed by questions or unfin-
ished statements, each with four suggested answers marked A, B, C and
D. Choose the one that you think is the best answer .

Mark your answers on your answer sheet .

Britain almost more than any other country in the world must seriously
face the problem of building upwards, that is to say of accommodating a
considerable proportion of its population in high blocks of flats. It is said
that the Englishman objects to this type of existence, but if the case is
such, he does in fact differ from the inhabitants of most countries of the
world today. In the past, our own blocks of flats have been associated with
the lower-income groups and they have lacked the obvious provisions, such
as central heating, constant hot water supply, electrically operated lifts
from top to bottom, and so on, as well as such details, important notwith-
standing, as easy facilities for disposal of dust and rubbish and storage
places for baby carriages on the ground floor, playgrounds for children on
the top of the buildings, and drying grounds for washing.

It is likely that the dispute regarding flats versus individual houses

-11.



